0.6

0.4

0.2

0.0

04 05

0.2 03

-0.1 0.0 0.1

Balaena_mysticetus

—] == T

28 6h

MLl ~ P o PR
T T I T T 1 T

-0.3 -01 00 01 02 03

Y

Eubalaena_australis

- T

-0.3 -01 0.0 01 02 03

Y

0.0 0.2 0.4 0.6

-0.2

0.4

0.0 0.2

-0.2

Balaena_mysticetus

e —
2 6
| — | | —
-0.3 -0.1 0.1 0.2 03

Eubalaena_australis

2

L

P—N

A=

6

T
-0.3

T T
-0.1

T T T
0.1 0.2 03

0.4

0.2

0.0

-0.2

02 03 04

-0.1 0.0 0.1

-0.3

Balaena_mysticetus

-01 00 01 02 03

X

Eubalaena_australis

-0.1 00 0.1

X

02 03



02 03 04 05

-0.1 0.0 0.1

0.4

0.2

0.0

Eubalaena_glacialis

= T

-0.3 -01 00 01 02 03

Y

Balaenoptera_acutorostrata

oy T

28 B8a

N rY A

-0.3 -0.1 00 01 02 03

Y

0.0 0.2 0.4

-0.2

0.0 0.2 0.4

-0.2

Eubalaena_glacialis

= T
~ ~—
! ! ! ! ! ! !
-0.3 -0.1 0.1 02 03
Y

Balaenoptera_acutorostrata

- T

2 6

A A —

T T T T T T T
0.1 0.2 0.3

-0.3 -0.1 00 01 02 03 04

0.0 0.2 0.4

-0.2

Eubalaena_glacialis

QK

| 2 0% ¢ 6

-0.3 -01 00 01 02 03

X

Balaenoptera_acutorostrata

o

P—N —

!
-0.3 -01 00 01 0.2 03

X



0.6

0.4

0.2

0.0

0.6

0.4

0.2

0.0

Balaenoptera_borealis Balaenoptera_borealis Balaenoptera_borealis

4 = © = © =
o o
< | <
— o o
N N
o 7 o 7 A
i x > e
o o |
o o
N
N .
' N
N B B B B | I I R R m—
-0.3 -0.1 00 01 02 03 -0.3 -0.1 0.1 0.2 03 -0.3 -0.1 0.1 0.3
Y Y X
Balaenoptera_edeni Balaenoptera_edeni Balaenoptera_edeni
©
L T S = T < .-. T
S ] :
™
< o
— o
N
N
N I
- < © > ©
o
S .
o |
o —
o‘ —
— |
N —
38 %g s+ 2 6
™
% s e En T T T T T ?_l?l"l T |'_|6|
-0.3 -01 00 01 02 03 -0.3 -0.1 0.1 02 03 -0.3 -01 00 01 02 03

Y Y X



0.6

0.4

0.2

0.0

0.6

0.4

0.2

0.0

Balaenoptera_musculus

= T

%8 84

D A — A

T I T T 1 f T
-0.3 -0.1 00 01 02 03

Y

Balaenoptera_physalus

= L

-—lEIf\

!
-0.3 -01 00 01 02 03

Y

0.0 0.2 0.4 0.6

-0.2

0.0 0.2 0.4 0.6

-0.2

Balaenoptera_musculus

== T

Balaenoptera_physalus

T T

PN A T

T T T T T T T
-0.3 -0.1 0.1 0.2 0.3

0.0 0.2 0.4

-0.2

0.0 0.2 0.4

-0.2

Balaenoptera_musculus

oY\ 4 =0

!
-0.3 -01 00 01 02 03

X

Balaenoptera_physalus




0.2 03 04 05

-0.1 00 0.1

IND
oy

0.4

0.0 0.2

0.2

Megaptera_novaeangliae

==

-0.3 -0.1 00 01

Y

T T T
02 03

Caperea_marginata

==

2
2b

1 Dy

ic Ae

6b
b6a

- 2 PN
! !

-0.3 -01 00 01 02 03

Y

0.0 0.2 0.4

-0.2

0.0 0.2 0.4

-0.2

Megaptera_novaeangliae

==

Caperea_marginata

==

0.6

0.4

0.0 0.2

-0.2

0.6

0.4

0.2

0.0

-0.2

Megaptera_novaeangliae

==




Eschrichtius_robustus

°7 28 @&
Sy zgﬁn —® Ha

Cephalorhynchus_commersonii

C o T

Eschrichtius_robustus

© —= T
o
o
o
N
S
o
S
N
°1 2 6
Lo ] A —
I I I I I I I
-0.3 -0.1 0.1 0.2 0.3
Y

Cephalorhynchus_commersonii

<
o
N ]
o
S ]
° o
2\ 8 6
o~
S -
T T T T T T
-0.3 -0.1 0.1 0.3

Eschrichtius_robustus

0.6

0.4

0.2

S - 2@6

-0.3 -0.1 0.1 0.3

Cephalorhynchus_commersonii

0.6
|

0.4
|

0.2

¢ 2A "6

-0.3 -0.1 0.1 0.2 03



0.0 0.2 0.4

-0.2

Cephalorhynchus_eutropia

= T

2a 6b

-0.3 -0.1

Cephalorhynchus_heavisidii

== T

0.0 0.2 0.4 0.6

-0.2

0.0 0.2 0.4

-0.2

Cephalorhynchus_eutropia

= T

Cephalorhynchus_heavisidii

== T

0.6

0.0 0.2 0.4

-0.2

0.0 0.2 0.4 0.6

-0.2

Cephalorhynchus_eutropia

i 2‘ /

T T T
-0.3 -0.1 0.1 0.3

Cephalorhynchus_heavisidii

C o

T T T
-0.3

. 2&6
—C; O{l | 0?3

1



Delphinus_delphis Delphinus_delphis Delphinus_delphis

© =T © 7 =T © =T
o o o
< <
< - -
S o o
o~ N ]
~N o o
S x >
o o |
o S 7] ©
S
2 B | 2\ 8 6 o
o - @
2 ' | 2 6
o'_
| o o oS e

-0.3 -0.1 01 02 03 -0.3 -0.1 0.1 0.3 -0.3 -0.1 0.1
\4 \4 X
Feresa_attenuata Feresa_attenuata Feresa_attenuata
== T == T . T

< <
o 7] o
)
)
N N
o 7] o
X >
o
o T -
d - o
6 N
(qV]
- o
S ' 2 6
0 0o ~ a
| | | | | | | | | | | | |
-0.3 -0.1 00 01 02 03 -0.3 -0.1 0.1 0.2 0.3 -0.3 -0.1 0.1

Y Y X



02 03 04 05

00 01

-0.2

Globicephala_macrorhynchus

== T

|
w
QO

|

-0.3 -01 00 01 02 03

Y

Globicephala_melas

== T

0.0 0.2 0.4

-0.2

0.0 0.2 0.4

-0.2

Globicephala_macrorhynchus

Co T

!
0.1 0.2 03

Globicephala_melas

== T

0.0 0.2 0.4

-0.2

0.0 0.2 0.4 0.6

-0.2

Globicephala_macrorhynchus

== T

Globicephala_melas

i) -
! ! ! ! ! ! !
-03 -0l 01 02 03
X



Grampus_griseus Grampus_griseus Grampus_griseus

0.2 03 04 05

00 0.1

-0.2

=3 = © ] =T
o
<
— <
o S
o~ o~
o o
0
X > O)
Z o o _|
L o 7] o

0.4

0.2

0.0

-0.2

-0.3 -01 0.0 01 02 03 -0.3 -0.1 01 02 03 -0.2 0.0 0.2
Y Y X
Lagenorhynchus_acutus Lagenorhynchus_acutus
©
P = T O p= = T
<
< o 7
3
N
~ S 7]
N
X >
o |
o
2a 6b S -
2 ga 2 6 o~
5 « 5
o — |
3h 5h '
— | E— T T S e B T
-0.3 -0.1 01 02 03 -0.3 -0.1 01 02 03 -0.3 -0.1 0.1 02 03



0.0 0.2 0.4

-0.2

0.0 0.2 0.4

-0.2

Lagenorhynchus_albirostris

= T

2a 6b
2
532
3b 5b
-CI).3 | —Ol.l | 0?1 0?2 0?3
Y

Lagenorhynchus_australis

C o T

-0.3 -0.1 0.0 01 02 03

Y

0.0 0.2 0.4

-0.2

0.0 0.2 0.4

-0.2

Lagenorhynchus_albirostris

== T

-0.3 -0.1 0.1 0.2 0.3

Lagenorhynchus_australis

== T

0.0 0.2 0.4 0.6

-0.2

0.0 0.2 0.4

-0.2

Lagenorhynchus_albirostris

= T

Lagenorhynchus_australis

== T




0.0 0.2 0.4

-0.2

0.0 0.2 0.4

-0.2

Lagenorhynchus_cruciger

== T

28 6h
3a 5. ba

3b 5b

P— —

T T I T T T T
-0.3 -0.1 00 01 02 03

Y

Lagenorhynchus_obliquidens

== T

| 2a 6b
2% 6a
a
| % 39
—C;.3 | —(I).l | 0?1 0?2 0?3

0.4

0.2

0.0

-0.2

0.0 0.2 0.4 0.6

-0.2

Lagenorhynchus_cruciger Lagenorhynchus_cruciger

<
o
N
— d N
>
o
— d 7]
¢ ° :
| 7 2 6
o = o f
I I I I I I I I I I I I I I
-0.3 -0.1 01 02 03 -0.3 -0.1 0.1 0.2 03
Y X
Lagenorhynchus_obliquidens
>
T T T T 1
-0.3 -0.1 0.1 0.3
Y X



Lagenorhynchus_obscurus

C o T

0.4

0.2

0.0
|

2a
EN

-0.3 -0.1

Orcinus_orca

== T

-0.3 -01 00 01 02 03

Y

0.6

0.0 0.2 0.4

-0.2

0.0 0.2 0.4

-0.2

Lagenorhynchus_obscurus

== T

Orcinus_orca

== T

0.0 0.2 0.4

-0.2

-0.2 0.0 0.2 0.4

-0.4

Lagenorhynchus_obscurus

== T

Orcinus_orca

=5




Peponocephala_electra

. |2a 6b
® l2b 6a
N
—OI.3 | —Ol.l 0!0 O?l 0?2 0?3
.

Pseudorca_crassidens

== T

-0.3 -01 00 01 02 03

Y

0.0 0.2 0.4 0.6

-0.2

0.0 0.2 0.4

-0.2

Peponocephala_electra

== T

T T T T T T T
0.1 0.2 03

Pseudorca_crassidens

== T

-0.3 -0.1 0.1 0.2 0.3

0.0 0.2 0.4 0.6

-0.2

0.0 0.2 0.4

-0.2

Peponocephala_electra

A
2 6
— |A| [ B

-0.3 -0.1 0.1 0.3

Pseudorca_crassidens

2@6
|Q‘| I'_‘l

-0.2 0.0 0.2

X




0.6

0.0 0.2 0.4

-0.2

0.0 0.2 0.4 0.6

-0.2

Sousa_plumbea

=5 T

Sousa_sahulensis

== T

0.0 0.2 0.4 0.6

-0.2

0.0 0.2 0.4 0.6

-0.2

Sousa_plumbea

== T

PN
! ! ! ! ! !

Sousa_sahulensis

C o T

-0.2 0.0 0.2 0.4

-0.4

0.0 0.2 0.4 0.6

-0.2

Sousa_plumbea

-0.3 -0.1

Sousa_sahulensis

0.1 0.2 0.3

=T




Sousa_teuszii

Ta
<
o
N
o
_ | 2a 6b
2
2b 6a
«| 3B e
S
T | o T T
-0.3 -0.1 0.1 02 03
Y
Stenella_attenuata
@_ == T
o

0.0 0.2 0.4 0.6

-0.2

0.6

0.0 0.2 0.4

-0.2

Sousa_teuszii

Ta"

Stenella_attenuata

== T

-0.2 0.0 0.2 0.4

-0.4

0.0 0.2 0.4

-0.2

Sousa_teuszii

== T

-0.2 0.0 0.2

Stenella_attenuata




0.0 0.2 0.4 0.6

-0.2

0.0 0.2 0.4 0.6

-0.2

Stenella_coeruleoalba

Co T

2p 6k
N

—

-0.3 -0.1 01 02 03

Steno_bredanensis

== T

0.0 0.2 0.4 0.6

-0.2

0.0 0.2 0.4 0.6

-0.2

Stenella_coeruleoalba

Co T

Steno_bredanensis

== T

0.0 0.2 0.4

-0.2

0.0 0.2 0.4 0.6

-0.2

Stenella_coeruleoalba

Steno_bredanensis

== T




0.0 0.2 0.4

-0.2

Tursiops_aduncus

== T

2 68
ng 582

T
-0.3

Tursiops_truncatus

== T

0.0 0.2 0.4 0.6

-0.2

0.0 0.2 0.4 0.6

-0.2

Tursiops_aduncus

== T

o

T T T T T T T
-0.3 -0.1 0.1 0.2 03

Tursiops_truncatus

= T

0.4

0.2

0.0

-0.2

0.0 0.2 0.4

-0.2

Tursiops_aduncus

I 7
:
3 %45
I I I I I I
-0.3 -0.1 0.1 02 03
X

Tursiops_truncatus

T
-0.3 -0.1

0.1 0.2 03




0.4

0.0 0.2

-0.2

0.2 03 04 05

0.0 0.1

-0.2

Delphinapterus_leucas

== T

-0.3 -01 00 01 02 03

Y

Monodon_monoceros

= T

P

: B!

3a 5a
3b ~ 5b
-0.3 -0.1 00 0.1 0.2 0.3

Y

0.4

0.0 0.2

-0.2

0.0 0.2 0.4

-0.2

Delphinapterus_leucas

== T

Monodon_monoceros

= T

P—N

T T T T T
-0.3 -0.1 0.1 0.2 0.3

0.0 0.2 0.4

-0.2

0.0 0.2 0.4 0.6

-0.2

Delphinapterus_leucas

C o T

Monodon_monoceros

C o T




0.0 0.2 0.4

-0.2

Neop

hocaena_asiaeorientalis

== T

-01 0.0 01 02 03

Y

Phocoena_dioptrica

C o T

-01 00 01 02 03

Y

0.0 0.2 0.4

-0.2

0.0 0.2 0.4

-0.2

Neophocaena_asiaeorientalis

== T

Phocoena_dioptrica

C o T

0.0 0.2 0.4 0.6

-0.2

0.0 0.2 0.4

-0.2

Neophocaena_asiaeorientalis

C o

Phocoena_dioptrica

==




Phocoena_phocoena

== T

Y

Phocoena_sinus

== T

-01 0.0 01 02 03

Y

0.0 0.2 0.4

-0.2

0.0 0.2 0.4

-0.2

Phocoena_phocoena

== T

Phocoena_sinus

== T

0.0 0.2 0.4

-0.2

0.0 0.2 0.4

-0.2

Phocoena_phocoena

——
2 /
A 5
I I I I I 1 I
-04 -02 00 02
X

Phocoena_sinus

= T




0.0 0.2 0.4

-0.2

0.0 0.2 0.4

-0.2

Phocoena_spinipinnis

== T

-0.3 -01 00 01 02 03

Y

Phocoenoides_dalli

Pa 6b
Zgib 63
| S5
—0I.3 | —Ol.l O?O Ofl 0?2 0{3

Y

0.0 0.2 0.4

-0.2

0.0 0.2 0.4

-0.2

Phocoena_spinipinnis

== T

Phocoenoides_dalli

== T

0.6

0.0 0.2 0.4

-0.2

0.0 0.2 0.4 0.6

-0.2

Phocoena_spinipinnis

¢
6

-0.3 -0.1

2

0.1 0.2 03

Phocoenoides_dalli

-0.3 -0.1 0.1 0.2 03




Pontoporia_blainvillei Pontoporia_blainvillei Pontoporia_blainvillei

0.6

0.4

0.2

0.0

-0.2

== T == T == T

0.6

0.4

0.2

0.0

-0.2

(o]
< ]
<
< S
o
N
~ S 7
x o >
o
2a 6b 3 S
2b 6a N 2 6 ~
% ? S
T T T | E— T T T T T T T T T T
-0.3 -0.1 01 02 03 -0.3 -0.1 0.1 0.3 -0.3 -0.1 0.1 02 03
Y Y X
Mesoplodon_perrini Mesoplodon_perrini Mesoplodon_perrini
== T @_ - == T Lo. - == T
o o
U <
o o 7
N N
S ']
x > ©
o
S 7 S -
28 6k o« | 2 6 .
o -
i 55 | * 1 2N 6

T T I T T T T T T T T T T T T T T T T T T
-0.3 -0.1 0.1 02 03 -0.3 -0.1 0.1 0.3 -0.3 -0.1 0.1 0.2 0.3



0.0 0.2 0.4 0.6

-0.2

0.2 0.4 0.6

0.0

0.2

Mesoplodon_europaeus

— == T

2 68
T |g’T =T E% T

-0.3 -0.1 01 0.2 03

Tasmacetus_shepherdi

= T

6l
| Tptate

T T T T T
01 02 03

0.0 0.2 0.4 0.6

-0.2

0.0 0.2 0.4 0.6

-0.2

Mesoplodon_europaeus

= T

-0.3 -0.1 0.1 0.2 0.3

Tasmacetus_shepherdi

== T

2\ B 6

—

T T T T T T T
-0.3 -0.1 0.1 0.2 0.3

0.4

0.2

0.0

-0.2

0.0 0.2 0.4

-0.2

Mesoplodon_europaeus

2 6
S B N B .
-0.3 -0.1 0.1 0.3
X

Tasmacetus_shepherdi

C o T




Ziphius_cavirostris Ziphius_cavirostris Ziphius_cavirostris

- T - T ko. -] == T
o
<
o < |
o
N
o N ]
x > ©
o
o S ]
o
o - o 2 6
| ? -]
o /i PN —
T T T T T T T T T T
-0.3 -0.1 0.0 0.1 02 03 -0.3 -0.1 0.1 0.2 03 -0.3 -0.1 0.1 0.2 0.3

Y Y X



